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UNIVERSITY OF NORTH BENGAL 

B.Com. General Part-III Examination, 2022 

B.COM. 
PAPER-3G2 

DIRECT AND INDIRECT TAXES IN INDIA 

Time Allotted: 3 Hours Full Marks: 100 

The figures in the margin indicate full marks. 

 DIRECT TAX  
(MARKS: 60) 

 GROUP-A / িবভাগ-ক / [k.M-d

 Answer any two questions 

েয-েকান dিট  pেűর উtর দাও 
rydk dquS nqbZoVk iz”udk mÙkj ys[uqgksl~ 

18×2 = 36

1.  Sri Roy is an employee of a company in Kolkata. The details of his income for 
the previous year 2020-21 are as follows: 
(i) Basic salary `8,200 p.m. 
(ii) Dearness allowance @ 25% of basic salary. Dearness allowance is taken for 

computation of retirement benefits 
(iii) Both he and his employer contributed 13% of salary to a recognized 

provident fund. Interest credited to the said fund @ 10% p.a. `2,000 
(iv) House rent allowance received @ 15% of basic salary. Sri Roy stayed in 

Kolkata in a rented house for which he paid rent `2,000 p.m. 
(v) He was provided with a car of 1.6 ltr. both for official and private works. 

The entire running and maintenance expenses of the car were met by the 
employer 

(vi) His employer paid his life insurance premium `2,700 and professional tax 
`600. 

Compute taxable income from salary of Sri Roy for the assessment year 2021-22. 
  

2. Mr. X is the owner of two houses in India. From the following data, compute the 
gross annual value of the houses: 

Particulars House-I (`) House-II (`) 
Municipal Value p.a. 30,000 15,000 
Fair rent p.a. 22,500 14,000 
Standard rent p.a. 25,000 12,000 
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Actual rent p.a. 21,600 18,000 
Vacancy (in months) 2 Nil 
Unrealized rent Nil `2,500 

 

  
3. Mr. X has furnished the following Profit and Loss Account for the year ended 

31.03.2021: 
 Particulars Amount

(`) Particulars Amount 
(`) 

To Opening stock 20,000 By Sales 3,00,000 
To Purchases 2,00,000 By Closing stock 50,000 
To Wages 30,000 By Profit on sale of Investment 10,000 
To Rent 20,000   
To Salaries 10,000   
To Depreciation 20,000   
To Municipal Tax 10,000   
To Interest on Capital 5,000   
To Provision for bad debt 6,000   
To Income Tax 5,000   
To Net profit 34,000   
 3,60,000  3,60,000 

Additional information: 
(i) Wages paid includes wage paid for installation of machinery `2,000 
(ii) Depreciation allowed for income tax `6,000 
Compute income from business for the assessment year 2021-22. 

  
4. Discuss with suitable examples, how the residential status of an individual is 

determined? 
 েকান এক বয্িkর residential status িকভােব িনধ�ািরত হয়, তা উদাহরণ িদেয় আেলাচনা কর। 
 mi;qä mnkgj.kg: lfgr NyQy xuZqgksl~] O;fädh vkoklh; fLFkfr (residential 
status) dljh fu/kkZj.k xfjUN \ 

  

 GROUP-B / িবভাগ-খ / [k.M-[k

5. Answer any three questions: 
েয-েকান িতনিট  pেűর উtর দাওঃ 
rydk dquS rhuoVk iz”udk mÙkj ys[uqgksl~ 

4×3 = 12

(a) Define “Person”. Who are included as ‘Person’ u/s 2(31) of the Income Tax Act, 
1961? 

 সংjা দাও ‘‘বয্িk’’। আয়কর আইন 1961–এর 2(31) ধারা অনুযায়ী কারা বয্িkrেপ অnɏ�k ? 
 *O;fä* (Person) ifjHkkf’kr xuZqgksl~A dlykbZ dj vk;dj ,su] 1961 u/s 2(31) ek 

*O;fä* (Person) dks :iek lekos”k xfj,dks N \ 
(b) Write a note on deduction u/s 80D. 

 টীকা েলখঃ আয়কর আইেনর 80D ধারা। 
 u/s 80D vUrxZr dVkSrh ek fVIi.kh ys[uqgksl~A 
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(c) Write a note on Annual Value. 
 টীকা েলখঃ Annual Value 
 okf’kZd ewY; (Annual Value) ek fVIi.kh ys[uqgksl~A 

(d) Write a note on Agricultural Income. 
 টীকা েলখঃ kিষ আয়। 
 Ñf’k vk; ek fVIi.kh ys[uqgksl~A 

(e) Write a note on ‘Perquisites’. 
 টীকা েলখঃ ‘Perquisites’ 
 ‘Perquisites’ ek fVIi.kh ys[uqgksl~A 

  
 GROUP-C / িবভাগ-গ / [k.M-x

6. Answer any six questions: 
েয-েকান ছয়িট  pেűর উtর দাওঃ 
rydk dquS NoVk iz”udk mÙkj ys[uqgksl~ 

2×6 = 12

(a) Name two incomes which are exempted from tax. 
 dিট আেয়র নাম েলখ, েযখােন আয়কর ছাড় আেছ। 
 dj NqV Hk,dk nqbZ vk;dks uke fnuqgksl~A 
(b) Define Previous Year. 
 পূব�বত�ী বছেরর সংjা দাও। 
 vf?kYyks o’kZ (Previous Year) ifjHkkf’kr xuZqgksl~A 
(c) Name four kinds of Provident Fund. 
 চার ধরেনর ভিবষয্িনিধর নাম েলখ । 
 pkj izdkjdk l; dks’kdks uke fnuqgksl~A 
(d) What is PAN? 
 PAN কী ? 
 PAN ds gks \ 
(e) Give two examples of income from other sources. 
 অনয্ানয্ উৎস হইেত আেয়র dিট উদাহরণ দাও। 
 vU; lzksrckV vk;dks nqbZ mnkgj.k fnuqgksl~A 
(f) What is “Block of assets”? 
 “Block of assets” কী ? 
 “Block of assets” ds gks \ 
(g) Mention any two items of donation which qualifies 100% deduction u/s 80G. 
 েয েকান dিট দােনর উেlখ কর যা ধারা 80G-েত 100% ছাড়েযাগয্। 
 nkudk dquS ifu nqbZ oLrqg: mYys[k xuZqgksl~ tqu u/s 80G vUrxZr 100% dVkSrh ;ksx 

gqUN \ 
(h) Is illegal income taxable? 
 েব-আইনী আয় িক করেযাগয্ ? 
 ds voS/k vk; dj ;ksX; N \ 
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(i) What is Capital Asset u/s 2(14)? 
 2(14) ধারা অনুসাের মূলধনী সmিt কী ? 
 iwath lEifÙk u/s 2(14) vUrxZr ds gks \ 
  

 INDIRECT TAX  
(MARKS: 40) 

 GROUP-A / িবভাগ-ক / [k.M-d

7. Answer any two questions: 
েয-েকান dিট  pেűর উtর দাওঃ 
rydk dquS nqbZoVk iz”udk mÙkj ys[uqgksl~ 

12×2 = 24

(a) Discuss different types of duties imposed under Customs Act. 
 Customs Act অনুযায়ী িবিভn ধরেনর িক িক ǖl ধায� করা হয় তা আেলাচনা কর। 
 HkUlkj ,su vUrxZr yxkb,dks fofHkUu izdkjdk “kqYdg:ckjs NyQy xuZqgksl~A 

(b) What are the provisions in respect of valuation of excisable goods? 
 ǖl ধায�েযাগয্ পেণয্র মূলয্ িনধ�ারেণর িনয়মাবলীgিল িক ? 
 vUr%”kqYd ykxus oLrqdks ewY;k³~dudks lEcU/kek ds O;oLFkk N \ 

(c) Discuss the import procedures followed by the person in-charge of conveyance 
and the importer under the Customs Act. 

 Customs Act অনুযায়ী আমদািনকারী ও যাতায়াত বয্বsার দািয়tpাp আিধকািরক পণয্ আমদািনর 
েয  সকল পdিত অনুসরণ কের েসgিল আেলাচনা কর। 

 HkUlkj ,su vUrxZr nqokuhdks conveyance bUpktZ O;fä j vk;krdrkZys ikyuk xusZ 
vk;kr izfØ;kg:ckjs NyQy xuZqgksl~A 

(d) How is registration of a person made under the Central Excise Act? 
 Central Excise Act অনুযায়ী িকভােব একজন বয্িkর িনবnন হয় ? 
 dsUnzh; vUr% “kqYd ,su vUrxZr O;fädks nrkZ dljh gqUN \ 

  
 GROUP-B / িবভাগ-খ / [k.M-[k

8. Answer any two questions: 
েয-েকান dিট  pেűর উtর দাওঃ 
rydk dquS nqbZoVk iz”udk mÙkj ys[uqgksl~ 

4×2 = 8

(a) Define the term “goods” and “manufacture” under the Central Excise Act. 
 Central Excise Act অনুযায়ী ‘‘পণয্’’ ও ‘‘উৎপাদন’’-এর সংjা দাও। 
 dsUnzh; vUr% “kqYd ,su vUrxZr *oLrq* j *fuekZ.k* “kCnykbZ ifjHkkf’kr xuZqgksl~A 

(b) List some important documents that are to be submitted by the importer of goods 
to the customs authorities. 

 েকান পেণয্র আমদানীকারেক কাsমস ্  আিধকািরকেদর কােছ েযসব grtপূণ� নিথপt েপশ করেত 
হয় তার তািলকা pstত কর। 

 Lkeku vk;krdrkZys HkUlkj izkf/kdj.kykbZ cq>kmuq iusZ dsgh egÙoiw.kZ dkxtkrg: 
lwphc) xuZqgksl~A 
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(c) What are the basic conditions of excise liability? 
 ǖl দােয়র মূল শত�gিল িক িক ? 
 vUr%”kqYd nkf;Rodk vk/kkjHkwr lrZg: ds gqu~ \ 

(d) What are excisable goods? 
 ǖl ধায�েযাগয্ পণয্ িক ? 
 ‘Excisable goods’ ds gks \ 

  
 GROUP-C / িবভাগ-গ / [k.M-x 

9. Answer any four questions: 

েয-েকান চারিট pেűর উtর দাওঃ 
rydk dquS pkjoVk iz”udk mÙkj ys[uqgksl~ 

2×4 = 8

(a) What is ad valorem duty? 
 মূলয্ানুসারী ǖl কােক বেল ? 
 ‘ad valorem duty’ ds gks \ 

(b) What is bonded warehouse? 
 ǖlাধীন পণয্াগার কােক বেল ? 
 Bonded warehouse ds gks \ 

(c) What are customs stations? 
 Customs stations িক ? 
 HkUlkj LVs”ku ds gks \ 

(d) What is tariff value? 
 Tariff value কী ? 
 ‘Tariff value’ ds gks \ 

(e) What is antidumping duty? 
 Antidumping duty কী ? 
 ‘Antidumping duty’ ds gks \ 

(f) Who is commission agent as per the Central Excise Act? 
 Central Excise Act অনুযায়ী commission agent েক ? 
 dsUnzh; vUr%”kqYd vuqlkj dfelu ,tsUV dks gks \ 

 
——×—— 

 
 


